
 

Recalt product State la lb lab c Ha fls

Adjoint 1a Is It la It Is It Sal Cbl
donotswap a b

Innerproduct 147 la Ib
14 S la Is

4414 Lala sis

Operators A B act onHaft A B acts on flab
A B lat lb Alas 13162

sumofproducts A Bh

productofproducts A B A B AA BB
Example CA Is Ia B A B A B a Potentiallyconfusing

acts onHa Llb

Examplei Twospin 12s
A 12 35 It altla Is _It Stl t I 35 Is

A Is Itt htt I t It 7kt I 2at Is is implicit
spin a has Sz th z

Cheech A x Is
2
Axis because Ltt It 7 Lt Itt o

MeaningafEPRstate i Info rt 12 2 7 12 2 7

41 14.744.1 L It Xt I It 7L H l txt I t l t L H

What are propertiesof spina when 1 3 is true

Kat to It 7Gt I It s H non commuting cannot

to that It 7Gt I I K ly
assign value to za
Or to 25 or to Xa



Let PE tt t I bothspins the same
Q It I t L t both spins different

P 43 14.312 0 both same is false
Irk 4 Q to both different is true

Q I P hot both same is true

Logical framework for reasoning choose decomposition of
the identity e.g P to Q H orthogonalprojectors

Summing to I Canmakestatements abouttruth falsehood within

event algebra of framework e.g both same is false Properties

of spin a ov b alone e g that lie outsideframework and

cannotbe discussed


